
Installation Instructions
SF Fan Indicator

 Mortise Lock

PM-ISMMC7000-SFW
V20220810

Installation Instructions for Privacy
MC7096 with Coin Turn Indicator

1. Install the mortise lockcase.
2. Mount the outside lever and sub-plate. Insert the 5x5mm thumbturn release 

spindle through the mortise deadbolt hub.
    Note: Insert the spindle when the lock bolt is retracted and showing 

"VACANT" in green.
3. Install the inside lever and sub-plate with 2 EA M6x45mm thru-bolts.
    Note: The outside spindle should be inserted into the brass rotating shaft 

when "VACANT" is displayed in green.
	 Note: Ensure the levers on both sides are at horizontal level and plates are 

vertical before tightening the thru-bolts.
4. Mount the outside cover plate.
5. Mount the inside cover plate.
6. Install the clear washer before mounting the thumbturn. Tighten the set  
    screw inside the thumbturn using the Allen key.
7. Install the armored faceplate with screws.
8. Tighten both inside and outside lever set screws after installation is complete.
    Note: Lever set screws may need to be loosened prior to installation if they 

are preventing the spindle or lever from moving freely by spring action.

8

5

6

7

3

2

1

4

Unison Hardware Inc.    6 Wayne Court, Sacramento, CA 95829, USA
Tel: +1.916.388.1888     Fax: +1.916.388.8322    Email: info@unisonhardware.com    Web: www.inoxproducts.com



A E

J K

G (MC7438) H (MC7050/7070) I (MC7096)

F

B C D

1-Wave Washer
Inside Trim

2-#12x20mm Combo Screw
2-M4x6mm Machine Screw

2-#12x20mm Combo Screw
2-M6x45 Machine Screw
2-M6x30 Nut
1-3mm Allen Key

2-#12x20mm Combo Screw
2-M4x6mm Machine Screw

2-#12x20mm Combo Screw
2-M4x6mm Machine Screw

Installation Instructions for Office/Inner Entry, Classroom, Entrance
MC7050,MC7070,MC7438 with Indicator

1. Install the mortise lockcase.
    Note: Do NOT tighten faceplate screws until after installing the cylinder.
2. Install the outside lever and sub-plate with 2 EA M6 x 30mm bolt sleeves.
    Note: Insert the spindle when the lock bolt is retracted and showing "VACANT" in green.
3. Install the inside lever and sub-plate with 2 EA M6 x 45mm thru-bolts. 
    Note: Ensure that levers on both sides are at horizontal level and plates are  
    vertical before tightening thru-bolts.
    Note: The outside spindle should be inserted into the brass rotating shaft when 

"VACANT" is displayed in green.
4. Mount the outside cover plate (snap-on).
5. Install the outside cylinder.
    Note: Key slot in cylinder should be in the lower off-center position. See Section A-A.
    Note: Use keys to test cylinder and make sure cylinder cam operates deadbolt smoothly.
6. Insert a screwdriver through the lock face to tighten the yoke.  This will secure the 

cylinder into position. See Section B-B.
7. Mount the inside cover plate.
8. For entry function, install the clear washer before mounting the thumbturn. Then 

tighten the set screw inside the thumbturn using the Allen key. 
    Note: Classroom function does not require a thumbturn on the inside.
9. Install the armored faceplate with screws.
10. Tighten both inside and outside lever set screws after installation is complete.
   Note: Lever set screws may need to be loosened prior to installation if they are preventing 

the spindle or lever from moving freely by spring action.

7

19

10

4
5

2

3

8

6

B-B

Item Parts Description

Function
Office and 
Inner Entry

7050

Classroom
7070

Privacy w/ 
Indicator

7096

Entrance
7438

A Outside Entrance Trim 1EA 1EA - 1EA

B Outside Privacy Trim - - 1EA -

C Inside Classroom Trim - 1EA - -

D Inside Trim 1EA - 1EA 1EA

E Cylinder & Keys 1EA 1EA - 1EA

F Thumbturn 1EA - 1EA 1EA

G Mortise Lock & Faceplate - - - 1EA

H Mortise Lock & Faceplate 1EA 1EA - -

I Mortise Lock & Faceplate - - 1EA -

J Strike Plate w/Dust Box 1EA 1EA 1EA 1EA

K Fixing Pack 1EA 1EA 1EA 1EA

A-A


